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Candidates are required to give their answers in

1. Answer any ten questions:

their own words as far as practicable.

2x10=20

@I TS 2eas Ted 7 ¢

a)

b)

What distinguishes “utilitarianism” from
“anthropocentrism’?

TA@RM  (“utilitarianism”) @R TN @S
ESTE RS RETRRCE R

What do you mean by safe minimum standard
approach?

oM oo W si@he (safe minimum standard)
(0o 6 (@mie

Mention two examples where environment acts
as sink for economic activities.

AR 7L 65 2ILF SR o e I a3 716
s[fafzfox Tuizad mie |

[Turn Over]

d)

g)

h)

1)

k)

Would you consider pollution as an externality?
Give reasons.

IRk LRSS & AfZFe! (externality) &1l T2
e (@14 |

What is the relation between property rights and
pollution externality?

Fs{feq S8 (property rights) @3 139 AfEFOR
S 54 b2

Name two economic instruments for pollution
control.

sAfc el e gt wietafess M == (economic
instruments) = TEe F4 |

How does tradable permit control environmental
pollution?

RfFsrCIe) Seisig Feia w3 e S i 70|
What do you mean by dirty industry?

Siferel @5 (dirty industry) JeTce & @Rl 2

What is Pollution Haven Hypothesis?

73 SEREe eaie (Pollution Haven Hypothesis)
(0o 6 (@mie

What is the shape of Environmental Kuznets

Curve?
TSRO PG ([ SAFS 62

Mention two objectives of "Kyoto Protocol".

TFCIC! pfes 1t Tomly (12|
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1) What is Total Economic Value in the

environmental service?
AT AR (%@ @G ST o FIF A6 2

m) Mention two measures of welfare changes for

changes in environmental quality.

A9 BT 2RSS 937 T ANfeF Tl
AS [l T2 4o S12tafoss Moo e @14 |

n) Name two revealed preference method of

environmental valuation.

aforaifze swwa (revealed preference) S
AT QT o ARRES {3 T2 9 oiwfo
14 |

o) What is sustainable development?
f2foReT / 57as T3 (sustainable development) FICS
Qe ?
2. Answer any four questions: 5%x4=20
-1 BIATH &eas Ted 71s 2

a) Discuss in detail the interlinkage between

economy and environment. 5
IS G2 #Ifsic! G2 e Smie emies efferiiG il

AT
b) How do environmental regulations affect
international trade? 5
sifRcIere Rzl el weeiies Afie gele

PRI
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d)

g)

Distinguish between Willingness to Pay(WTP)
and Willingness to Accept (WTA). Can they be
identical in magnitude? 4+1
emie 9 3R Willingness to Pay @ a2« EIREIE
323 (Willingness to Accept) Sty “11e< & 2 32it@
Py 6 oifen 2re it ?

What is an emission fee? Is there any difference

between Pigouvian Tax and emission fee in

general? Justify your answer. 1+4
1515 % (emission fee) F12 Wafaw ¢ @ fPgfenm
F(EA T A 2 Terma Foiew e nie |

Explain the relationship between economic
growth and environmental pollution. 5
wiftes i @ #If= Rt e ST Qi 9 |
What is an environmentally adjusted net national
product? Briefly explain Pearce Atkinson measure
of weak sustainability. 2+3
HACHITTSI S (7 G Teoiine] 10 {6 (31 2
1<e RfodieTeia (weak sustainability) Pearce-
Atkinson 5T A=2ICF AL BB FCA |

What are the indicators of sustainable

development? 5
FefeRiiet T 5 TS SIEAD| 39 |
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3. Answer any two questions:

10x2=20

@-CFIC g5 eess Tex wie ¢

a)

b)
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In case there is uncertainty over marginal costs
of emission, which of the following two is a better
policy tool — (i) emission fees and (i1) quantity
regulation. Justify your answer. 10
I e elifes a3 2ifsieeR @ sfemsel 2t
o1z el oo ey ey St @ in ifs g
@RI BRR (o) Fofm 7 (2) Afistors free e Taras
FACF G 7G|

Demonstrate with an example, how existence of

externality could result in market failure. 10
Triggel 312 1 9 fFel v qifgrmelz S e
<! (market failure) 905 |

Suppose, there is a soft drink manufacturing
factory next to agricultural lands and the former
releases polluted water which adversely affects
the agricultural output. Explain why and under
which conditions the efficient amount of
pollution would be the same irrespective of
whether the farmers have a right to a clean
environment or the soft drink manufacturer has a
right to release the polluted water. Why do you
think in reality any government intervention would
be required to control pollution? Give your

opinion. 7+3
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d)
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31 TP, g PRI A% 9B T 2AAR AW
FRAA WMz | G2 FAA (A [ofe yfve oo Fa
o FAR| (@ G (@F AR (@ @
MEAIICHF) BRI W AREER Sigsa (623l
RAERIRIERR FR iR W&, @‘7&@ (efficient)
VAR AT @2 207 2 93 AT TR 2wt
T ST RS 2 TORTS (#74 |

Does the nature of property rights in the global

commons has any role to play in transboundary
pollution problems? What are the possible
solutions of transboundary pollution problems?

7+3
Global Commons @3 (g F~oifeq S{F1T
(property rights)-a3 &= SGZIIEG W-e TP (FGq

T SRR 211w 01 2 93 THTE AGIRY AN F F 200
AR 2

(6)



